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CHEMISTRY .
(Skill Enhancement Course)
Answer the Questions from any one Optlon.
OPTION-A
Paper : CHE-SE-4014
(Analytical Clinical Biochemistry )
OPTION-B- .
Paper : CHE-SE-4024
( Green Methods in Chemistry)
OPTION-C ‘

Paper : CHE-SE-4034
(Pharmaceutical Chemistry)
OPTION-D

Paper : CHE-SE-4044 :
( Chemistry of Cosmetics and Perfumes)
" OPTION-E
. Paper : CHE-SE-4054
(Pesticide Chemistry)
~ OPTION-F
Paper : CHE-SE-4064
( Fuel-Chemistry)
Full Marks : 50 .
- Time : Two hours
. The figures in the margin indicate
Jull marks for the questions.
Answer either in English or in Assamese
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| OPTION A
Paper CHE-SE—4014
(Analytical Chmcal Biochemistry )

: 1..'. Answer the followmg questlons 1x4=4

W @W %w ﬁﬂt
(a) Albumlns are -
FREPTR i’ﬂ
@) Water soluble simple 'proteins
N TR e &y
(i) Fat soluble _simple proteins
B‘?i@m%ﬁﬁﬁﬁﬁﬂ S
| (uz) ConJugate protems
- R et‘r%a
v Derived proteins ;
Feoiw Ao

"(b) "La}c't.O.Se is compesed of

FEw.__ e @i

BO4FC 0131 2

and -

, | (c)- Numerflcal changes in chromosomes are
~ called . |
| EF’SI’@?’SH errf«‘n%‘« S

@TﬁT?{?TI

"(d) " Fats and carbohydrates both are
' _composed of carbon, hydrogen and
- oxygen. But fats ar,e‘ poorer in the -
element | " | '

fa:e) MQI’WWE@T‘@I@W
. SRYEW i SRTER A e e o
ﬁmer—asaﬂﬁm%w@mz’a—

4 v(i)‘ .Carbon
-t
(i) Hydrogen
(i) Oxygen
. (iy) None of the above

"’\eéﬁ#«aﬁe-m

'BO4FC 0131 3 ~ Contd..




2. Answer the follp'wing questions in bfief :

| 2x3=6

O TR HLF Tex o

(@) What is called ‘rancidity of Lipids’?
Fifer @ BRB fe & @i ?

(b) 'Mention the basic dissimilarities in
structure between DNA and RNA.

6. <. @ W o9, 1. €. 3 Trews 2T S

(T CUNPIR S 1)

. () 'How does pH affect on enzyme activity ? |

What is called optimum pH range ?

TeT5 A1 6919 pH @1 Rt erors R
I 2 AgeTod pH A At e

3. Answer the following questions : (any two)
, : Sx2=10Q
oo APTRY Bed fuAl : (Rizrear gby)

(@) What is biocatalysis? How jg ;
important in green chemistry ? 2_,_'3=15t.

0o SREA {52 (GTOW AT B9 G o

(b) What are the Chemical Components of
- nucleic acids ? Explain. 2+3=05

BO4FC 0131 - 4

| R R RS SomeeRR R R
0

" () What do you mean by Epimer? Is
- fructose an epimer .of glucose? Give
examples of three epimeric pairs of
glucose with their individual structure.

- 1+1+3=5

P I R e g P PR
wRee e R cale e S PR
TSR o OIS M @l -

(d) What is the minimum and maximum
blood sugar ‘level in normal human
body ? How can we calculate blood
sugar level ? :

RIS T RS T&© I e wF

oo Tl R AT 2 il KT I870 1R
Wt fadiee $RT “Aite
4. Answer any three of the following
questions: - _ - 10x3=30
oo Rt fofebt ey Tes Tl
(@) What is DNA replication ? Explain.
DNA g &2 iyt =i
BO4FC 0131 5 Contd.




(b) : What is meant by genetlc code ? Explam A , " (f) Wnte short notes on: (any two)

it What are the propertles Of genetm' - 5x2= 10 ‘
‘code ? g o v A
- . | wmfm (ﬁmmr zﬁ‘f)
R e I @r@r? TIGt w ' o
‘;[f@r—q ﬁs - WI ‘ (i) Blood coagulatlon process in
B (c) Dlscuss in detail about classiﬁcatioﬁ : ' 'm (= WWW&W L

. of Protein by glvmg suitable examples T e
of each class. . (i) - Mechanism of Lock and Key theory
2 . .. of enzyme action' S
%ﬂﬂ@w«tﬂraﬁm EARERRT | e oaR e R
- Remei WT(.?{TWWI ‘ ; i N WeIss
@ -Explam “The central dogma of (iij) - Structure of protein

. molecular genet1cs »o : - , o s Sﬁ)'ﬂ :
Wl ﬁﬁz{ﬁ@m R TSI Rz Gt - | (iv) Liposomes
| | e

() What are the maJor components of
" urine ? How can we d1fferent1ate the
normal urine from pathologlcal/
abnormal urine in case of Hepatltxs-B | : S —
virus 1nfect10n in liver ? |

mﬁmmﬁfﬁw IfS Qe e
| 5B SIRAR TG (v el e

W%/@TWW"NWﬁﬁW AE?

BO4FC 0131 6 . . ' ~
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OPTION-B .
CHE-SE-4024
(Green Methods in Chemistry )

~Pa;3er :

. Answer the following ,Qucs’tio.r'l's :
‘@ﬁ?ﬂﬁpﬁﬁaﬁﬁﬁﬁﬁT \
(@) .

metal causes’ “itai-itai”. dlsease‘
(Fill in the blank)

aria'ﬁﬁﬁiirﬁi R B 3|
| . @mﬁtﬁiaﬁvaﬂv
(b) Write the formula of phosgene gas
zﬁﬁéacﬁaavramsﬁ#mw
' (¢) Chloro Fluoro Carbon (CFCs) are

responsible for _ ‘depletion.
(Fill in the blank)

— STWRIARWR

FIFT I (CFCs)

(05T 312 o7 F31)

(d) Wthh gas was released in “B (o)
h
> pal Gas

“Wﬁmcﬁw@"@%cﬂsﬁ#m? -

BO4FC 0131 8

1x4=4

-

3.

-BO4FC 0131

2x3=6

Answer the following questions .

ﬁmﬁﬁ%saﬁﬂgﬁaﬁﬁaﬁﬁm

(a)s Mention fwo merits of ionic 11qu1ds
vm%ﬁa<§ﬁﬁyjﬁzﬁhﬂixaﬂaﬁn

(b) What are renewable and ndn—re_newable
‘resources ?
,"aaﬁmeWBEW¥vwﬁhammwnvﬁﬁwﬁ$9»
(c) What is bio-diesel'? Give.one example.

aw’%c@aﬁswﬁ‘r%m‘im' |

Answer any two questlons of the following:
5><2 10

ferat: R o

(a) ‘What is met haemoglobinaemia? |

| i RecanRof R
(b) Write. about versatile bleaching agent.
A @R quersy e i
9. '~ Contd.




(c) Describe the green synthesis of the

: followmg compounds 21x2=5 |

. WI :

(i) Paracetaniol
 CoRIBINET

(i) Urethane
3§ﬁkﬂﬂ

(d) Write a short note on sustalnable'

development.

Wmﬁmaﬁmm|

4. Answer any three questions :

(a) What are orgamc and inorganic
plgments ? Mention their dlsadvantages
in companson to rightfit plgment

10x3=30

6+4=10
_?‘5‘7“ HIF Sied G e ARG 3¢9
VIS 2T SPRYICIT SrEe 01

BO4FC 0131 io

(b) How to design a green synthe81s ?
Explain.
T T Whﬁwm?w
WTI

(c) What is atom economy ? Who developed
' the concept of atom economy ? Discuss -
. green -synthesis of ibuprofen in terms .

of atom economy. 2+1+7=10

Wﬁﬁ‘?ﬁﬁﬁs? mcm—aﬁ-# LINTo!
I Sl SOl SRR 2 SR T (e
»vra$vrﬁﬁ%'wawiﬁiﬂmﬁrwemmwaﬁhma
A 10|

(d) What are green solvents ? Explain water
as-green solvent by takmg four suitable
examples. 2+8=10
T TR 2 DI Tre BAIgses RS

AN Gew aie oIt TR <

'(e) Discuss the use of antifoulant in the
field of environmentally safe water
transportatlon

AR wgge TErHRTRTe IR ([
BT Raa S 3|

BO4FC 0131 | 11 Contd. -




() What are “Solvent less” OPTION C

: . reacti ?

Mention its advantages zi;nslo .
. mq,—a;[ m ﬁs? 3 E o : Paper CHE- SE—4034
Ealll . | o Pharmaceutical Chemistry )

1. Answer any four questions from the
followmg ' . 1x4=4
were fra eniRReies A=t ﬁzasm/ 51T et 1 ¢
'(a) How many numbers of N atoms are

- present in v1tam1n By ?
~ fo5ifR B, ® R RIUT N W‘i ams?
(b) - What are NSAIDs ?
NSAID 3o & @
‘(¢) - What is ferfnentation ? -
- R i:Tr’ﬂl (rReeEen) & =2
(d) What is meant by a lead compound in- .
medicinal chemistry? -
@ﬂawﬁvm@wﬁr (e (RTT"T). -
Frm e |
; . (e) Define chemotherapeutlc mdex
i m’c@ﬁﬁm@wm@tﬁm
-~ {f) Write the name of two enzymes involved
in the fermentation of glucose to. citric
‘ acid. : : :
BO4FC 0131 12 .
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(g)

(h)

2.

(@)

B[ ST S |

(b) What is the heterocyclic rin

: present in vitamin B, ? Write
of a disease that occurs d
deficiency of vitamin Bj,.

BO4FC 0131

Answe_,x_' the following any three.questions :

e R RS o R R e
(PGS T Al 7 ST it
fe |

What is the hqterocyclié rihg System
present in vitamin C ? -

feBIfm ¢ ol RoRbiskes Rht & =
Whai; are barbiturates ?

How many numbers of stereoisomer-
are possible for chloramphenic01§
Which isomer is responsible fq
antibiotic behaviour ? Draw jgo -
structure. '

PRS2 (BRI g 5
(D! SR BT IR ot iy

g System
the name
Ue to the

14

(¢

(d)

R By © 1 FERORER Rl B 2
ORI B1o T WORT Jiacd & (19 T A2
Name the prodrug of dopamine ? Why
cannot dopamine be administered -
directly ? : |

BT i @3y (argnl) &we e

Define agonist and antagonist drugs.
Give examples. . .
QTS W% GBI 8¢ M 3o 2 Tl

What are meant by hypnotics and
sedatives ?- : '

What are analgesics.? Write the name
and structure of an analgesic drug.

| GAFTEHTEA [ T @Bl GRS 8

AN B 9457 LIS ol |

Answer any two questions from the
following : oo : 5x2=10

were fanl epiRenie ot Rl 759 e 3
(a) What is leprosy ? Which bacterial -

species is responsible for leprosy ? Write.
the  name and structure of an

. anti-leprosy drug and propose a

synthesis for it. : 1+1+3=5 /

BO4FC 0131 . 15 * Contd.




| qEaloRe «ﬂﬁmﬁéﬂ S wamﬁn -
-,-aﬁﬁ@mﬁmmmmw
o, R [ o

" (¢) Whatis meant by vitamin C leaching?
Name two dietary sources of vitamin

. 'C. Write the name of two bacterial
'strains commonly used for synthesizing -

L—aSCOI‘bIC acid through fermentation.

S B =W @G @ERA bl e
'@%@Z‘im?qﬁaﬁ?ﬂmﬁ@ﬂ«wm
O 2BfS it I FA 1 .

(b) What are sulfa drugs? Draw the §
structure of sulfacetamide. Under what | ‘
medical condition it is being used? |
Write the name of two bacterial species
against Whlch it is active.

1+1+1+2=5 o : 2+142=5
BleTeel ot I B S 2 BleTelaBERe sy | - | %ﬁﬁacﬁ%\wﬁqm?%ﬁﬁacazﬁ'
e 9| T BT daeTics =01 Ry 1 . GRIBIR TR A | R ofFmRe @
T4 e 707 CUBRAE AW N I Ry a@@ﬁasaﬁ@w\mqmﬁww@f
Wﬂﬁﬂﬁ@ﬁ@rl | I R A B ' |
(C) Write the structure of 1bupr ofen. HOW J o (ﬂ erte the Structure actlwty relat]_onshlp .
manjl; lmf,lml%er S Off stereoisomers are B " (SAR) of penicillin analogues.
possible for ibuprofen and which isomer |- S AR sarel TR
is therapeutically active ? Mention twg 1 o ¢ el CE@? o
advantages of- 1buprofen over aspirin. - | . R
1+2+2=5 ' the
SZIATFNI A EE0) 1%,2”, S IET s 4. Ariswer any three quesuons frorils_so
D! (BRI ACT S following : 10
(PG | R ﬁzas/mr fofr oe 1 8
T BT Rwe TR e aoPRmers o o e
Euiiﬁmi;‘q Eﬁfﬁﬁ*ﬂ“f ferat1 (@) () What is the nitrogenous base
: ‘ 4 . present ‘in the antiviral drug
(d) Draw the structure of L-Glutamic | L : acyclovir ? To which virus it is
acid. How is it being Synthes1zed by | | _ effective against ? Write the name
fermentation process ? “l+4=5 |’ o : of a prodrug for acyclovir. - 3
BO4FC 0131 .16 : | ' Boarcoisl 7 . Contd.




1RGO I 1N B4 | PR Sizary

@

9 SI3TIe wiet ‘ﬂﬁﬁ’ﬁiw QI'?ST

Retes 3 ey 2 amiasfona
N ferat = B

What is a 'cardiovaSCular ageﬁt ?

Write briefly abou :

Write L ‘ t the med;j
co‘nc.htmn "in which glycelcal
ufl_mtra'te is" used. Proposery1
mﬁeth'_o‘d for the.synthesis v
glyceryl trinitrate. 1+2+2-05f

WWW(QW)W_%9

Wﬁ@maﬁaﬁm,

(i)

®

How does paracetamol
mol decr
the body temperature ? eas;

(IR O SRl R 2T o

In the industr-ial. 3
preparat
ethanol by fermentation _lon of

R o7 a1 BRIReT o

BO4FC 0131

AFFSTIS —
(A) What is the starting mater; al

and what percenta
. geof s
does it contain ? ugazr

18

|
(i
4
L
']
|

F
b

™
i

®

©

(D)

(E)

- ®

BO4FC 0131

ame B W XS R
woie] *F]A AT

Name two microorganisms
that can. carry .out the

'fermentation. | 1
71 iREFeReiReE A fwRi

What are the nutrient
substances added ? 1

& 5 (ol T I 2

What is the optimum pH
range for the process ? 1

. & oy A SFTed pH AR

e

What.is the optimum
gemperature for | this précesi
e ,
Why is addition of oxygen '

necessary although the
aerobic ?




(i)

Write -the name bf four food

sources of vitamin B i
. ‘ . 2. What is
aliphatic side chain presentt}ilrel

Vita.min By ? 241 3

fEBIRA B, SIRGI 4 Beor i fapey
534

oo B, oo w0 el vite ey

0.

What are benzodiazepines ? What
drug .

is the trade name of

) th
D1az§pam? In what meed'
condition this drug is being usle(czia;

'Propose a syntheti -.
drug Diasepam.  141agie s

IETeRaEAE e e

. SRafSeR AR A1 e R ey

)

@) ()

BO4FC 0131

S| CIIUER o S T
CiRAfEINT 9Bt R Sl ey

What are the essential 'requirex'ne o
| for a compound to be an anﬁbioﬁlétg ]

QBT e aﬁsm’ﬁas =05 Wﬁj

TN IO & e

What is ﬁeant b

) . Yy retr i
How W}Il it help tooi’:lyélst!~1 s
synthetic route for a’ partlignl .
compound ? Explain by consideu‘ o
any -drug molecule. . P

20

1+14+2+4=g .?

1+4=5 o

@fi—-mﬁi ?ﬁm & gmie @B c#tﬁ

o efges % R TR IR
R <61 gt IR S

(i)

@

- Write bfieﬂ:y'about. the. development
of barbiturates. S "

Provide two examples of B- -
lactam antibiotics with

- structure. Why are these

compounds named 'such? 2+1=3

ot Bt - i oo T
1 R TR AR R AT

@

Draw the structure of cephalosporin
~ C. Name the two heterocyclic rings
‘present in its structure. Provide the .
‘name and structure of the molecule

 that is the starting pq‘intr',of‘

'BO4FC 0131

semisynthetic cephalosporins.
. - 1+1+1=3

ReerpelfRe C T oMo | TR IO
4l o1 (BRI et M GO
‘C@ﬁmﬂ%@@a’swém@ﬁ?ﬁ~
W@mwmﬁm | |

21 Contd.




o

© ) 4. _

Write -the name .

. . of four
soprces' of vitamin B,. What i:ot(l')id
a.llpha}tlc side chain present i
- vitamin By ? 2+1 lg

fEOIRA B,3 BIv6I 4 S
oI B, (o ﬁmgﬁ3$'qnlﬁ*“'
ﬁ‘s?' :2C@W‘ﬂ Eﬁgm

What are benzodiazepines ? What

is the trade name of the dry

Diazepam ? In what medica]
is being used » |

condition this drug
'Propose a syntheti ;
drug Diazepam. ¢ pathway for

RO P B ges

_ Wﬁaﬁmaﬁmmﬁs?%%,

)

@

- BO4FC 0131

TREe «? GhikRd IRER
fEﬁmﬁ%ﬁwae$fﬂamaq9@#@?25'

‘What are the essential requirer, .
~ : equire -
fora compound to be an ggléb?éiirét; .

a1 o aFoaT e e, mﬁz

S ROPTR [ e

What is meant b

How will it he{’prett;os&yn
synthetic_route for a p
compound ? Explain by.co
any -drug molecule. .

t!’lesis?
€s 1Ign g
artiCUlar
]. +4=5

20

1+1+2+4=g 'E

=W .

nsidering

Cﬂﬁ%ﬁﬁﬁiijqﬁma & gEie <o éﬁﬂ
SRR efrare B ReY R 9 2

R <9 gt T TR

@

NCR

. structure. Why are these

- Write bﬂeﬂ'}r.:aboi.l'c. the de_:velopment’ .

Of barbiturates. 5

Provide two examples of B-
lactam antibiotics with

compounds _naljned such ? 2+1= 3

o R f- R GO BT
fﬁhnleﬁzéﬁﬁﬂqiaimwﬁadf%ﬂ AT

i)

- that 'is the

' BO4FC 0131

Draw the structure of cephalosporin

~ C. Name the two heterocyclic rings

‘present in its structure: Provide the .
‘name and structure of the molecule
starting point of
semisynthetic cephalosporins.

o 1+1+1=3
RepelfRA C A1 Tt T AT
ot o1 iR e A el
g A o a1a ford

21 Contd.




© (ti)) What are aminoglycoside anti-

' (f) Let us consider th
production of penicillj i
reactor by fermentation -

ﬁcﬂﬁ%ﬁa?ﬁfﬁwmmwwu

@
(i)

(i)

(iv)

BO4FC 0131

-What is the source of carp

. Ol® I Tey fFo

ki
|
.

biotics ? Give one example.
Mention two adverse effects of this
category of antibiotics. 1+1+2=4

] €¢ commercial
N 1n a fed-batch

& R g

Which afe the two 'main Species
. used for fermentation? 2
e e @m gb7 omiar Rorss
Y < =2 P

' Which between those two is used
mainly and why ? 2

R PR D [T g o

| oS 92

on? i
What is the source of nitrogen »

, 3 1
OIS 725 R T o |

22

W

rang 1
_maintained ? -

(vi)

(v

@

()

BO4FC 0131

What pH range should be‘

pHT “fRvR R 27 =eet?

What chemical compounds t?gg
used as precursors for prociuc o
of penicillin V and pemc;l in G+

2
. Give their structures.

CRBRR Vo RBPT G o9

A mmmﬁww

frzes a5 ke

Which chromatogﬁaphic ‘tecjihnigl;g :
is used to monitor the proauc
of penicillin ? -
(ARBREFT ogs il TREN PRI
PR A GBI T RS
L : ymple.
What is retrovirus 9 Give examp o
5 o IR & e T

. .
Write the structure oI =
azidothymidine and mention to

B . 't :
which class of anti-HIV agents 12 |
belongs.

o e i D! o
2 oD @fS-HIV AR ST,
e =

: " . Contd.
23 .




(zu) Starting from D-manmtol as the
easily available source for the .
construction of the sugar
nucleus, describe how
a21dothym1d1ne can be

synthesized. . - 6.
f%aﬁﬁmrwﬁmvmwrjeer%Mﬁ |
waeﬁa%@ﬁﬁﬁmﬁvmwmremv?'

%ﬂ«ﬁa@u

What are sulphonamldes ?
Mention two uses of it, Describe a
method of synthesis of

M @

, con31der1ng aniline as Starting
- . material. Give one adverse effect
- of using sulphonanudes

1+2+4+1*8
@mﬁmﬂmmmﬁrmpamzamﬁﬁ
Gred 9 «ﬂﬁﬁﬂ? 9t W’;MW
m«ﬁadﬁewﬁﬁlmﬁm“

(i) What is co-trimoxazole ? 9

’ﬁwamwamﬁmﬁrﬁm»

BO4FC 0131 - 04

it

OPTION-D
, Paper : CHE-SE-4044
" ( Chemzstry of Cosmetics and Perfumes )

: rom below )
1. Answer any four questlons fro 1x4_4 .'

(i)~ Write the basic purpose of usmg‘face;v‘
’ powder

'¥Wvﬁmﬁmmﬁawaga@ﬁmﬁm

(i) Why is preservatlve necessary in
shampoo ? ,
»"@ﬁﬁawwﬁcmﬁﬁzm@ﬁamv
) ?
(iii) Is hair spray related with hair loss .

@mamww$w§%vmaWﬁ$6mzmﬁ?,

d
(iv) Name the essent1a1 oil used in cold an
P cough remedy ‘

$QWW¢w®¢¢ﬁ¢ﬁGMW$NC?@NFN
freat
(v) State the statement True or False :
BTt ot 7 oy o 8
Geraniol.is a monoterpen01d

. comifEE R SRR

‘. | .' - .Contd.
BO4FC 0131 . 25 »




(vi) Why is 2- phenyl ethyl alcohol used in -

perfumery.

2 ﬁm‘m?ﬂﬁﬁﬂwﬁzaﬁmmw |

°?

(vii) Name the vitamin which i
1s relat
good hair growth. - Wlth

ﬁawmmmmﬁmﬁam'

m%@aw|

| (vzu) Mention the plant part from which
jasmine oil is extracted.

@sﬁac—ﬁm@mwm
Bee w1 WW‘*WQ

. Answer any three questions from below :

| 2x3=¢
WWWW ﬁmmﬁ-ﬁi?fa B et ¢
(i) Write two side effects of hair dye.
(AR ©R IRTR IR 70 R T Gz 3y

(i) Write fwo main constituents of g good
shampoo.

'aﬁ&:—ﬁmﬁ'r T Seim S

(i) Name one natural source of geranio]
oil and mention its one use.

(eraIiReT (oeT by Al © '
3R IRAT 95 Tt WTWWWMW

BO4FC 0131 26

BO4FC 0131

(iv). Mention two main types of face powder.

7Y ﬁWWﬁQWWWI _

(v) Write two natural sources of
2-phenyl ethyl alcohol.

z%ﬁﬁi"ﬂﬁawzﬁ W'@Qﬂ@@?{
=4 | ‘

" (vi) Write two primary ingrédients of -

~ lipstick.
. feifRs 7o ztzna @vnma %wm

Answer any two questions from the
following : 5x2=10

weTe it ereTRe Rizicat gor7 ©eI fora ¢
(@) Deﬁne cold cream and vamshmg cream.
. Why is cold cream used during winter
season and how does it work on human
skin ?  2+(1+2)=5 . o
= .o (oRft: & i QI Bl 0
o 1 Mrosiere TR T IF THRI @Fﬁ
@IS Y I R T2 |

(b) What are antiperspirants and what is
its main use? Write its one basm

ingredient. Write its two side effects.
2+1+2"5

27 - ~ Contd.




(9

()

- BARPHES W R e T R R
IR FE? A Q1R B T B i

23R 70 ~irdfer S <=t

‘Write chemical composition of talcum

powder. Why and how does it help '

‘human be1ng ?

How does lipstick work on human |

skin ? Mention four genuine reasons,

how long-term use of 11pst10k may harm
human belngs : 1+4*‘5

mﬁ%mm%wmﬁam o

o fife IR R S

(e

What is muscone ’9 Mentlon 1ts natura]
‘source. Write 1ts physical property, How

* .do hurnan beings collect it from naturg]
: s_oufce and use it ?

: 2+1+2 =5
srrq’amﬁs ?WW%«WWW|W
(SIS 3l 7l | T 2R o Beomg siay
(FCACP T I ST YT FE?

BO4FC0131 28
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() Which State of India has highest

“sandalwood 0il? - Mention  four |

B 1mportant factors on which go09¢
‘composmon of sandalwood oil depends.

1+4=5 L

,m%&vﬂm@?@qﬂ—mmw-'
R o e Wi B w0

Answer any three questlons from the

following : 10"3"30_
were Al mf—w— ﬁzaflmrf'“ﬁ?/? TeI P4l 2

(a) (i) Define essential oil. Mention the
" basic technique of extracting
essentlal oil from nature. Mentlon :

the special solvent which is-used.

'durmg extractmn o 142+1=4

| SR (o T e Rt v o
SRR (551 TigaeR o (PR
"WW!WW«WW’W‘-
. TR AW e = 0 |
;'(ii) Mention how human beings use
- the followlng essential oils for
their purpose : -
(1) Civetone, and (2) Eucalyptus 011
2+2=4
:n{cq s ot (o compz e TS
CICCI - IR e forat
(1) BRER, R (2) ToCRINE coml

i Coﬁtd.




‘m) )

(i)

BO4FC 0131

.-(uz'} Write two basic ways by whicﬁ

" alternative of rose oil.

human beings use essential oil. -
TR SRR (o51 T2 |
3 K9
4 SR | o
.Me_r}tio.n three methods by which
rose oil can be extracted. Which
type of. rose is mostly used for oil
extraction ? In what different Wayé

rose o.il may be used ? Mention one
chemical compotind generally used

C 3+142+1=7

QUG IACE SIS U I G I O/ o o i )
TEd T FEERIE GIETA 92 o
TR AR BoFS 2 N (oo & /s
AP I TRA AT 2 (AT (oo iy

TR T PRET CTPOR A S

9 ,

What the is the purpose of using
shaving cream ? Mention tye
alternative compounds of shavin
cream. 1+.2~§

e & I = Somy o "
ars S 1

30

) c’?ma,"

©

/

Write four- chemi¢a1 compounds

present in good/best face powder.
- - . . 4 ’

Tew e I AAHRS TS S

(@

IPIRET (T A Tt F
What*is the best sources of
eugenol oil in nature? What
method in adopted for  its

‘extraction ? How men use it?
1+1+2=4

SR o e alrpfor Be 6

(i)

@ )

. oG ey fvdn

" BO4FC 0131

TN SRR A 5 Sl /A= TR
23 ? WL T (@A IR R
Write the names of two good
thickeners used in a good
shampoo.
TR A B
Why is using hair spray
necessary ? How is hair spray
related with health of hair ? Write
three differences between: hair
spray and hair dye. 1+1+43=5
@R Cel TR I AR 2

Wwaﬁmmm«
RN (U el O (R OIS

1+i=2
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(ii)

(e) ()

(ii)

(iii)

. B

Write about the therapeutic use

of different essential oils. RS
Rfen ST compnzs B cras

=9 I9ER] Ra &

th';xt is nail enamel ? Wrife five
basic chemical compounds present
in nail enamel. 1+5=6

aﬂﬂmﬁ%?mm'ws@ 55y

- NS e T

Mention two methods by which
analysis of essential oil is done

. 1+1=2
SRR (o1 Rest=el 09 757 Boitr ey |
Write the basic difference between,

hair removing cream and shavin
creaim. l %

== Rfer foms == oofeR fEmm
ol foral | : “ee

(f/ Write in short about the following .

S

(1)

(ii)

Bo4rc 0131

. 5+5=1O
T FEEE eoTe o ol ¢

Cosmetic safety
origs Haierel

Purpose of using fragrance
materials

5l TR IR A O]

32

(9)

(h)

BO4FC 0131 33

Chemically what is a nail POl,ish
remover ? Mention five basic Cheml.ch
components present in nail polis:

remover. Why do people us€ ﬂail
polish ? Write two side effects of 1’1"15LO
polish using. 1+5+2+2=

sERTeE T2 AfEe Rerer &2 T i
RereEe 251 Ai65) Te1 e S

<1 | ez R AT 75w ae s ? 9

yr spdfEEl S 4

. r
What is suntan lotion? Place fm;f
strong opinions regarding the use

- suntan compounds by human beings:

7 2+(2x4)=10
BICE F [ 2 SRS FZ G Bio G
qeaa Ra@ s e wore |




OPTION-E
~ Paper : CHE-SE-4054
( Pesticide Chemistry)

1. Answer any four of the following questions :

1x4=4

Choose .the correct one :

o% Gech AR Giresr 2

(i)

(i)

Which of the following is not an

organochlorine pesticide ?

R GRUR! Cora e P ey

| (A) ‘Malathione AR
(B) DDT [EACA
(C) Aldrin GG

(D) Endosulphan Q&R

The chemlcal used in ‘Natlonal Malarig

Eradication Programme’ is

TR ST I W’Jﬁas
| .‘%@;ﬁ{am@ " i
(A) B.H.C Ra2mp
(B) DDT AT
(C) 2,4-D 2, 4-%

(D) Pyrethroid H3IATC

BO4FC 0131 . 34

(iii)

(iv)

h i

Natural insecticide obtamed from neem
leaves is

A g = W«T 1 a@sﬁs a‘ﬁ%am R
[y
(A) ‘Azadrirachtin
. GIOREE
(B) ' Nicotine
- Rt
(C) Lawsone
. R

_ (D) Ecdysone

 GFGIRe
Identlfy the weedlc1de among the -
following :

Wﬁﬂ!@mmﬁww Wﬁf&m—

T |

(A) 2,4D

- 2,48
(B) Parathion
' (AT

" (C) Chloranil

F e -
(D) Sporgein
"R

' BO4FC 0131 35 o : CO'r;td.




(v) The pesticide used 'in foundation of

buﬂdmgs for preventmg termite attack
is

AR e 4 T SR S|

~ wﬁ\%mﬁwmﬁam

- (A) Gammaxene
 emRE
" (B) DDT
| e
(C). Aldrin-
G
(D) EI‘l_d‘rin .
(vi) Ratenone is a/an’
- IGTA T @R
. (A) insect hormone
B St G
(B) natﬁral. insecticide
ARPOT . FIo*IF
Q) bioherbicide
TR PonmIe
(D) weedicide
AR

BO4FC 0131 36

(vii) Alachor is an.
G Ry -
a) organophosphate pest101de T
| - (B) a.nilide pest101de -
B uqﬁ%ws PO

, (C) organochlonne pest1c1de o

. o R o
(D)__ _ None.'of the above
(uiii) éarﬁofufaﬁ }is used as
FRRAEII RS iﬂ
(A) an agncultural pestlc1de
Ry RS a‘ﬂ%amas ﬁsm
- (B) a fruit ripening agent. '
= A T Bt

(C) a food preservative

g AT 2o
(D) . a moisturizing agent
oY s Boice
37 Contd.
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. 2. Give very short answers of the following :

(any three)

2x3=6

oS RIS 3R Rewe s T ¢ (R fRfny)

(i)

)

(@)

What do you mean by herbicides ? Give

- one example.

PP i ‘Qﬁﬁs i@t? <5 Swizge )

Name two organochlorine pesticidés;.

7/ Tereg Rt SoAris oK A St 7 |

What are rodenticides? Give an
example of commonly used rodenticide.

- TIATAT @I R 2 AReTOIE s qfiy

(iv)

v) .

© TS SR |

Can algaecide be coiflsidered as a

pesticide ? Which algaecide is used to

. control algal blooming in-ponds, lakes

etc?

| ‘meﬂﬁﬁwmﬁm
| oI AT 23R S RIS Dy

Ao IE IS IR I W2

What is the full form of DDT? In whicy, .

class of pesticide it belongs to ?

| Rl A O e 3 T o

iefE e ? :

B0O4FC 0131 ' 38

(vi) What is the mode of :action of .

- rodenticides ? Answer briefly.

Explain briefly any two of the following :

Reste M o1 R oate T :

(@)

(b)

(c)

@

(e)

- 5x2=10 "

Use of Gammaxene as a pesticide
SRR o f2o1eet TRE -
Organophosphate pesticides '

Methods - of pesticide' residue analysis

Synthesis of organophosphate pesticides
STATRLTE DoAY AFOF
Agriculturai pesticides

Answer thé following questions : (any three)

10x3=30

O ST \%@wz(ﬁmﬁﬁfr)

(a) Define pesticides. Discuss in detail

different classes of pesticides by giving
example of each class and their mode
of action.

BO4FC 0131 39 Contd.




ﬁmw @ Tl [ TR ﬁﬂ‘w
mﬁﬁﬁ—mwm%mﬁfawwqa

- ()

What are organochlorine pesflcldes ?
‘Give chemical structure of any two such

| pest101des Write the applications of

some commonly used organochlorine
pesticides. How can these pesticides
affect human health ?

o el SR [ 2 (ol ﬁmmrzﬁef
FIARS AR 215 1l | TReTeicT RS
(PR (& Rl FHARRT A I7~IF
orl | @R B, ﬁmw (R WIS TR

O FE?

@

' ﬁwmqﬁm%qmvwwm :
FoANT SR

@

What do you mean by pesticide
‘residue ? Discuss its impact on human

‘health. Describe various’ methods of

pesticide residue analysis.

FSig FoE SCEvAl 1 |
m«ﬁﬁawﬁﬂwﬁa@wm|

What is chloranil? In which category
of pesticide it belongs to? Write its

“molecular structure. Discuss about its
- synthesis, uses and harmful effects in -

detail.

Fafe B2°2 N TR AR e

TR o sion okt | TR 2R, Rl wie

ol dore R ARET v 340

BO4FC 0131 . 40

@

N0

BO4FC 0131

‘ (l} DDT
(i) Malathlon

L4

Explain in detail . the beneflts and
adverse effects of different kinds. of

- pesticides. -

%Wmm—wﬁwmi
FNCE Rm it wife & |

Differentiate between natural and
synthetic pesticides. Explain with
examples. Write about their advantages
and disadvantages in detail.

| agpfor Wi MeiRe FHares WS I
'WWWWMIWEE%

wqﬁmﬁmﬁvr@@ﬁﬂn

‘Write short notes of the followlng :

(any two) ‘
<o fAeler gore R oy (B R 8
fefei '
CTeTIT

(iij) Chloranil - Fafe

(iv)" Alachor &IPS

What are carbamate pesticides ? Give
examples. Why are they used for?

. Discuss about their toxic effects. How

can we analyze carbamate pesticides ?

R oA Rre Sieael it | R TR
Wﬁwwmm&@mﬁwm
TG S | S R @R T

.ﬁmmz@am?
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.",il;

~Ggfewsﬁh7ﬁh@%ﬂbﬁ%ﬁeMNfﬁeaﬁhn°
(a) - What is the formula of producer gas '->4
..?'.»j:ﬁﬁﬁ%ﬁ:mﬁaawmﬁ%ﬁvkamsﬁ$?

OPTION F

CHE-SE-4064
(Fuelcvuﬁnﬁﬂry)

Paper

“Answer ariy foar of the fellowing questions :

1X4é4

What is flash and fire pomt of

- lubricant ?

o f’ﬁﬁk$%33ﬁ56W$ﬂ$mﬁﬁ$iﬁ$9‘ .
(o) ‘What do you mean by power alcohol ?
| IR T IR R el e

@D

Define octane number.

o R @

@

G1ve two examples of antlknockmg-

agents.

@Rk qerne g S foa |

Bo4Fco131 L a2

- Define calorific value of a fuel.

?ﬁﬁﬁ'Gﬁﬁﬁﬁ%asos§§:§§1%pn,

BO4FC 0131

(h) .
. Answer any 'three of‘the, follomrig

quest10ns

" Define p1tch

Wﬂ\wﬁml

' Give two examples’ of gaseous fuel

cﬂ%ﬂ?ﬁmzﬁ W‘Tﬁml

2x3=6

Wﬁmﬁmmﬁﬁﬁmﬁmﬁm

@

What are renewable and non-renewable

f
'.~energy resources ? Give one eXample o‘

each

ﬂ%ﬁﬁm‘iﬂ w :u%naacmmm xﬁw‘@a BT

| ,ﬁwmcﬂm W‘Tﬁml

(b)

C

(d ) Mention-

How is coal tar formed?“

| SIS AP o T2

Wnte the differences between rthexfn"lal

and catalytic cracking?
SIS GaRfBR Wvﬁﬂ%@ﬂ czﬁ%avn@ﬁﬂn =
two routes for the manufacture
of isoprene petrochem1ca1 ‘
s B (AGeTe® IR 1ol g 107
s Tl | o
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3.

BO4FC 0131

(e) "What is the d1fference between base oil

R

and addltlves?
qﬁr (S W% cﬂwﬁw 557 on%T forair

" Define ulhmate analysis of -coal.
. FTIR TS R & g

AnsWe‘; any two of the following questions :

5x2=10

(a) How are fuels classified ? Why are fossﬂ

(1)

fuels regarded as the most important
source of energy today ?

| 2+3=5
mmmﬂﬁ@mww?m

GRT 25 (6 ooyl =i Beot Rpiest apey
hal ks

What is coal ? Discuss briefly about the
compositions and types of coal.

' ' 2+3=5
TN 2 T AR e R{few oI @oFS
Wﬁf [T 3|

44

(@)

(e)

' BO4FC 0131

Write short notes .on the following :
2+3=5
vy, Core et 2

(i) Coal gas j

T (R

(i) - Watér gas.

" Classify petroleum according to the

types of hydrocarbon.

mwﬁwﬁaevﬁ—f‘%ﬁﬁ
coiEPmT ETRerER 34

wﬁat is hydrogenation cracking ? What

" are the catalysts used for catalytic

hydrogenation process? | 2+3=5
| R GERR Rt SR 2R S
& 5 SRS IR T4 W2
Write shortly on aromatic
petrochemlcals
T (RS AR eﬂa—mm,
45 Cont. d




(e) What is the d1fference between base oil
and additives ? .

,%WWW@ﬂWMI

R Define ultlmate analysis of -coal.

TR PO R o1l g B

3. Answer any two of the following questions :

S5x2=10

wmﬁmmzﬁr o e fian ¢

(@) How are fuels classified ? Why are fossﬂ
fuels regarded as the most important
source of energy today ? '

: " 2+3= 5
AR @S cafﬂﬁ—m TN 2 wfernfey
S R 1o el =iRew Bt Rpieat oty
'W s

(b) What is coal ? Discuss briefly about the

compositions and types of coal.

| 2+3=5
T [ BT AW Rifew ﬁW RETi
S AR I |

BO4FC 0131 ’ 44

(c) Write short'notes .on the follo,Wlng P
2+3=5
5 Bre Bl ¢
() Coal gas
eI R
(ii) | Water gas
| ST (R _ |
(d)' Clas31fy petroleum accordlng to the
types of hydrocarbon.
ffon eRieT Y TR evigs fofs IR
cigPRE TR =i

(e) Wl'lat is hydrogenation cracking ? What
" are tl'le catalysts used for eatalytic

hydrogenation process? 2+3=5
| PRGSO (TR ﬁ?ﬂgﬂﬁﬂiﬁm |
& ﬁs GReS T T =2
(ﬂ Write shortly on aromatic
R petrochemicals. |
Cogeling c@%m@r AR eoﬁ—s;f@sm.
' BO4FC 0131 45 Contd.




4.

A'nswef any' three of the following
. .questlons

o o e T e B o

'(a) Class1fy petrochemlcals with their
~  compositions. Describe the method of

preparatlon of propylene -oxide by

(b)

- ‘chlorohydrin process.

oo esige ff% IR (oigRmINeTe AW
TR 1 | FT G ferr arat eieiafm
CRRG e I il

‘Describe the general properties of

- lubricants in brief. How are lubricants .

7+3=10"

iq@mwmmmwm.

5+5=10

classified ?

o
- different types of biomass.
A e Rier avvT qmm eo[w v -
- SIS 3] o

() Calculate presence of percentage
of C, H, N and S from the following

(@)

What is biomass? Briefly discuss
4+6=10

observations for a sample of coal :

BO4FC 0131 . 46

10x3=30

- advantages of b10d1esel

) 2 lg of coal 1s burnt in a;f’
combustion. tu’ ;. The 1ncrease 1n-'

weight of anhydrous CaCly is . ..

- 0.53¢g and .increase- in we1ght of -
KOH tube. is 5.73g.

C, H, N'o% S-7 5o o vlﬁm

.»—mvm@wwﬁﬁwo."

0.1g T B TS WEH U T | Wi .
_Caczz-aaf%’@wi’ao SSQWRSKOH ,

| W IS oI T 5.73g1 ;
'(ii') Write  the positive aSpectS of o
' -nuclear energy. - 5
R R e fﬁ#@ﬁa ﬁ'anl

: (e). What is biodiesél? How is biodiese] :

produced ? Discuss. Write the

3+3+4___10- o
o fe T TS 9w ) ayp
WWIW@WW)}@WM‘

What is fractional distiltation ? Dis Clss -

briefly the. principle of fractmnal.
distillation. Explain the procegg of -
fractional distillation. 2+345<y 0 -

SR AArew 3 2 2 o TIRR e
24 | ST AN @S I Y|

~ BO4FC 0131 R Contq..




@) .

(h)

How is viscosity of lubricant

measured ? Discuss the importance

of animal oil and vegetable oils.
5+5=10

TR o oMot @ Ky w4 W
ﬁﬁwwm—mmWW|

Mentior'lv‘t'he effect of pr'essuire and

temperature on carbonization of coal |

tar. Write the negative impacts of -
burning fossil- fuels. g 5+5=10

TSI T2TS Biv O TeoR o BER

w:ﬁm%mwwmw%
mﬁamfﬁam

Boqrc 0131 - 48 " 500




